5-52. CAPACITOR AND CAPACITOR
CLAMP INSTALLATION (Fiadures
5-44 and 5:?5)

:tording to supply variations,
“your kit may contain either one
. capacitor (varying from 80,000uf -
100,000uf, 15V - 25V) or two capa-
citors (varying from 40,000uf -
50,000uf, 15V - 25V) to be mounted
on the Cross Member. Figure 5-44
shows the proper placement for one
capacitor. Figures 5-45A and 5-458
show the proper placement for two
capacitors. The capacitor(s) are
mounted in clamps using a #6-32 x
3/8" screw and a #6-32 nut (Bag 5).

Install the capacitor(s) according
to the following instructions.

1. Secure the capacitor in the
clamp with a #6-32 x 3/8"
screw and orient the capa-
citor as shown in figure.

76-32 x 3/8"

screw .3

#6-32 nut
(A)

2. Place the clamp and capacitor o
on the Cross Member, aligning #6-32 x 3/8" Capacitor
the mounting holes. P g E

$. Secure the clamp to the Cross
Member using three #6-32 x 3/8"
screws and -three #6-32 nuts.

Capacitor

#///;6-32 nut

SCreaw Jl ‘ E !

Clamp

(8)

§-45. Power Supply Capacitor and Clamp
Installation (For Two Capacitors)

5-44, Power Supply Capacitor and Clamp
Installation (For One Capacitor)

—~—

Page 5-53



5-53. BACK PANEL ASSEMBLY (Figure
5-46)

The instructions for the assembly
of the Altair 8800b back panel are
divided into the following sections:

Procedural Instructions
Capacitor Wiring

Bridge Rectifier Installation
1/0 Connectors

Fan Mounting

Fuse and Fuse Holder

AC Power Cord

Trans former

Back Panel Mounting

Before beginning the back panel
assembly, remove the back panel
from the mainframe and remove the
mainframe from the case bottom.
Set aside the mounting screws, as
they will be replaced later in the
assembly procedure.

To aid with the assembly of your
unit, a view of a correctly assem-
bled back panel is shown below in
Figure 5-46.

Figure 5-46. Completed Back Panel Assembly

Page 5-54



5-54. PROCEDURAL INSTRUCTIONS

{Figures 5-47 through 5-49)

Some of the terms and procedures
that are repeatedly called out in
the Back Panel Assembly Instructions
will be explained in detail in
Paragraphs 5-55 through 5-58. (The
experienced kit builder who is al-
ready familiar with these procedures
may wish to skip to Paragraph 5-59.)

5-55. Terminal Ends. There are
five different sizes of terminal
ends used in the wiring of the back
panel. The sizes are shown in
Figure 5-47. Refer to this figure
whenever a terminal end size is
called out in the assembly instruc-
tions.

5-56. Wire Preparation. Before any
wire is used in an assembly step, it
should be prepared as follows:

1. Cut the desired length of wire.

2. Strip 1/8" to 1/4" of insula-
tion off the ends.

3. Tin the exposed portion of the
wire by applying a thin coat of

solder.

SIZE BAG # TERMINAL END WIRE GAUGE SCREW SIZF
A 2 :@ 12-10 s1ip on

B 2 = | 22 #6 screw

c 2 ::Eéég 12-10 #6 screw

D 2 ::g;zz 12-10 #10 screw
E 2 NANM :Eéi) 12-10 #10 screw

Figure 5-47.

April, 1377
8800b

Terminal End Sizes

5-55



5-57. Attaching Terminal Ends to
Wires. Most of the wire

connections in the Back Panel Assem-

bly Instructions call for attaching

a terminal end to a wire and mount-

ing it to the proper terminal.

This procedure is detailed below:

For terminal end sizes A through D:

1. Insert the exposed portion of a
wire that you have prepared into
the correct size terminal end as
shown in Figure 5-48.

2. Heat the wire and terminal end
with a soldering iron. Apply
solder to the heated wire, al-
Towing the solder to flow until
there is a solid solder connec-
tion.

NOTE

If the insulator on the
terminal end loosens during
soldering, be sure to push
it all the way back in place
when soldering is completed.

NOTE
Be sure to hold A size(ter-
minal ends verticall with
the wire down) while soldering
to prevent solder flowing
onto the siip-on tabs.

For terminal end size E:

Size E terminal ends do not have
insulators, and therefore must be
insulated with heat shrink tubing.
The procedure for attaching E size
terminals ends varies slightly, as
follows:

1. Set the E size terminal end on
the work surface and heat it
with a soldering iron until it
is hot enough to allow solder
to flow.

5-56

Insert the exposed portion of a
wire you have prepared into the
terminal end and apply solder
until there is a solid connec-
tion.

After the wire has been soldered
in place and the joint has
cooled, cut a 1-inch piece of
heat shrink tubing and place it
over the terminal end. Use a
heat gun, if available, or a
match to shrink the tubing.

CAUTION

Terminal ends become extremely
hot during soldering. Allow
five minutes cooling time
after soldering before touch-
ing the terminal ends.

Heat Shrink

(if used) \\\E§:> ~

Terminal End

g7
Wire g’

Figure 5-48. Terminal End Attachment

April, 1977
8800b



5-58. Connector Pins and Cannector 4. Commoning tabs may be put into

Sockets. Some of the wire the pin housing over pins that
‘nnections in the back panel as- must be shorted together. Push
~sembly instructions call for con- the commoning tabs a!] the way
nector pins and connector sockets . to the base of the pin housing,
housed in a plastic plug. The using the tip of a small screw-
general procedure for preparing driver.

these plug(s) is detailed below:

1. Insert the exposed portion of
a wire that you have prepared
into a connector pin or con-
nector socket as shown in
Figure 5-49A.

. . - Connector
2. Crimp the Tower portion of the Wire Pin
pin or socket around the wire
insulation. Solder the center _
portion of the pin or socket s
to the exposed portion of the - Q;QEEEEEB Wire
wire. L. \
/8
3. Insert the pins and sockets into €=C:23
their respective housings as 'l
vé{ﬂ—-

shown in Figure 5-49B. —

Connector Socket

Figure 5-49A. Connector Pin and
Connector Socket Wire Insartion

Socket Housing

Connector
- Pin

\

\

i Socket
Pin Housing (~ Connector

\

Commoning Tab

Figure 5-49B. Pin and Socket Housing Assembly
‘ 5-57

333
~3

Aoril, 1
3200b



el B B Tt I Y

[ ettt el g I— ~
P . o
S " I L] "
T v ! LARGE R
‘ OIS =D 5 (R/DLK) -0
B z LN 59
e ' ) (YEL) 20 26 (B/oLK) | 10.. 37 28
P ' ; -
' 12 " en \ a [ \ 2 tormm jal
10" 3
L = :P«?S 22 | LRLILILIN KRS twhT)
3 29 (aep! 1
" XK \ 18 >
\' e 30 (BLUE} | B
10 { e oto | %4 31 {(GAN) 2 -
o3 0 2>
o35 T /] sz geua |1
ht W
\. s
cs . s . »
> ps
33 37 g ™M
34 " o
— » i \ swt
ny —
21 w1 %
3 K 3 'R K] oo FUSE
IR EBRERERKE R 9| 0 .Ghu.
gle ojojo]e el9 =" {whT)
7 FAN
. {eLK}
42 43
a8 ar
44 a3 a
a8 49
GND GND O 1 — 1
110 VAC POWER SUPPLY
—0-18v -18v0-
0418y +18vO
(X1.1% + 80
MOTHER BD.

Figure 5-50.

Wiring Diagram



5-58.

CAPACITOR WIRING (Figure
5-50)

Before beginning assembly of the
back panel, wire the capacitor or
capacitors that are mounted on the
Cross Member as follows:

Wiring For One Capacitor:

1.

" block (TB1).

Cut two 9-inch lengths of 10-12
gauge wire. Attach C size ter-
minal ends to one end of each
wire. Attach D size terminal
ends to the other end of each
wire.

Connect the 9-inch wires to the
capacitor by mounting the D size
terminal ends to the "+" and
ground terminals with the #10
screws provided.

Connect the wire from the "+"
side of the capacitor to ter-
minal #3 on the power supply
board terminal block (TB1).
(See wiring diagram, Figure
5-50.)

Connect the wire from the

ground (-) side of the capacitor
to terminal #8 of the terminal
(See wiring dia-
gram, Figure 5-50.)

April, 1977
88006

Wiring For Two Capacitors:

1.

Jumper the two "+" terminals
to each other and the two
ground terminals to each
other with two 2-inch lengths
of 10-12 gauge wire and four
D size terminal ends.

Cut two 9-inch lengths of 10-12
gauge wire. Attach C size
terminal ends to one end of
each wire. Attach D size ter-
minal ends to the other end

of each wire.

Connect the 9-inch wires to C5
(capacitor closest to the Power
Supply Board) by mounting the

D size terminal ends to the "+"
and ground terminals with the
#10 screws.

Connect the wire from the "+"
side of C5 to terminal #3 on
the terminal block (TB1).
(See wiring diagram, Figure
5-50.)

Connect the wire from the ground
side of C5 to terminal #8 of
the terminal block (TB1). (See
wiring diagram, Figure 5-50.)

5-59



5-60. BRIDGE RECTIFIER INSTALLATION

{Fiqure 5-51)

Use the following instructions to

wire the bridge rectifier (Bag 1)
and mount it to the back panel as
shown in Figure 5-51. The bridge

rectifier is part number KBH25005.

1. Mount the bridge rectifier to
the back panel using a #6-32
x 3/4 inch screw, #6-32 nut,
flat washer and lockwasher.

Make sure the terminal labelled
"-" is at the upper right corner.

2. Cut two 5-inch lengths of 12-10

gauge wire and two 19-inch
lengths of 12-10 gauge wire.

#6-32 x 1/4" Screw

Figure 5-51.

5-60

Attach an A size terminal end

to one end of each wire. Attach
a D size terminal end to the
other end of each wire.

S1ip the A size terminal ends
onto the bridge rectifier ter-
minals as shown in Figure 5-51.
Attach the two 5-inch wires to
the "AC" terminals and use mask-
ing tape to label them 13 and
15. Attach the two 19-inch
wires to the "+" and "-" ter-
minals and label them 14 and 12
respectively. ’

Bridge ’
Rectifier J
p

0
9 0

#6 Lockwasher

®

#6-32 Nut

Bridge Rectifier Installation

Aeril, 1977

3800b

& 7
9
EAA #6 Flat Washer
Fﬁ%ﬁL_ O
.i g
. G



5-61. FAN MOUNTING (Figure 5-52)

~1.

Before mounting the fan and fan
screen to the back panel, install
the female plug onto the ter-
minals as shown in Figure 5-52,
If your kit does not supply a

plug, solder two 20-inch lengths

of 22-18 gauge wire to the ter-
minals. o :

Attach connector sockets (Para-
graph 5-58) to the two wire
ends. (The wire ends on the
plug have been stripped and pre-
tinned.) Label the wires 33

and 34.

Refer to Figure 5-52. Mount the
fan screen and fan to the back
panel (with the airflow flowing
inward), using four #6-32 x 5/8
inch screws and four #6 "snap-

on nuts."
//r #6-32 x 5/8" Screw Fan Screen
/9 =
#6 Snap-On Nut
Figure 5-52. Fan and Fan Screen Mounting
April, 1977

88000

m

-61



5-62. FUSE AND FUSE HOLDER

(Figure 5-53)

Secure the fuse holder (Bag?2).
into the hole provided on the
back panel using a fiber washer
and mounting nut as shown in

5-63.
1.

AC POWER CORD (Figure 5-54)

Strip about 7 inches of casing
off the end of the power cord
to expose the three wires in-
side.

Figure 5-53. 2. Put the strain relief (Bag 2)
on the cord and position it as
Attach a 40-inch length of 22-18 shown in Figure 5-54.
gauge wire to the side terminal :
on the fuse. Mount a connector 3. Snap the strain relief in place
pin to the end of the 40-inch n the back panel
wire and label the wire #39 ° € panet.
(see Paragraph 5-58). 4. Cut the black power cord wire to

a length of 2 inches and solder
it to the end of the fuse holder.
Cut the green power cord wire to
a length of 5 inches and attach
a solder lug to the end. Attach

a connector socket (Bag 4) (see
Paragraph 5-58) to the end of
the 7-inch white wire.

Mounting Nut

40" HWire
Black Wire

Strain Green Wire
Relief
Figure 5-53. Fuse Holder Installation Stlge”
White Wire
Connector
Socket
Figure 5-54. AC Power Cord Installation
5-62 April, 1977

88CCh



5-64. TRANSFORMER (Figures 5-55

through 5-69)

The instructions for wiring and
mounting the transformer will be
divided into three parts: Secondary
Wiring, Primary Wiring, and Trans-
former Mounting. Review Paragraphs
5-55 through 5-58 for the procedures
involved.

5-65. Secondary Wiring.

1. Orient the transformer with the
secondary side (four large wires)
facing you. Remove the two top
bolts and nuts and use them to
mount two "L" brackets (Bag 2)
as shown in Figure 5-55,

2. Attach an E size terminal end
with heat shrink tubing (see
Paragraph 5-58) to each of the
four large transformer wires
and label the wires 16-17-18-19
as shown in Figure 5-56.

3. Attach a B size terminal end to
each of the three remaining
secondary wires (Figure 5-56).
Label the two yellow wires 20
and 21, and label the yeliow/
green wire 22.

4. Bend each of the E size terminal
ends at a right angle as shown
in Figure 5-56. Mount the four
large wires to one side of the
4-terminal block (TB2), using
the screws provided.

5. Mount the terminal block to the
"L" brackets on the transformer
using four #6-32 x 3/4 inch
screws, four #6-32 nuts and four
#6 lockwashers (Figure 5-57).

April, 1977
880Cb

L Bracket

Secondary Side
Figure 5-55. "L" Bracket Mounting

E Size
Terminal

Ends

Figure 5-56. Terminal End Attachment

4#6-32 x 3/4"
Screw

#6 Lockwasher
— |

&__#6'32 Nut

-

Terminal Bicck Mounting

Figure 5-57.

5-63



5-66. Primary Wiring. The wires
on the primary side of the trans-
former will be connected to the 110
volt source with a 10-pin plug (see
Paragraph 5-58) according to the
following instructions.

A.
1.

5-64

Pin Housing.

Attach a connector to each of
the primary transformer wires.

When all eight wires on the
primary side of the transformer
have pins attached, insert the
pin housing (P4) as shown in
Figure 5-58. Insert the pins
in the following order (see
wiring diagram, Figure 5-50):

Wiring Transformer P4
Diagram Wire Color Pin Housing
Designation (Primary Side) Slot Number
25 Red/Black 3
26 Blue/Black 10
27 Green/Black 4
28 White/Black 9
29 Red 1
30 Blue 8
31 Green 2
32 Black 7

Aoril, 1877
8300b



Place a two-circuit commoning tab
over the following pairs of pins:

2 and 4 1 and 3
7 and 9 8 and 10

Make sure the tabs do not come in
contact with each other.

3. The two wires from the fan (23
and 34) are to be inserted into
slots 7 and 8 of the P4 socket
housing.

Connector
> Socket

(7

Figure 5-58. Pin Housing Insertion

n

Aporil, 1377 -65
K2NANK



5-66

Socket Housing.

Cut a 40-inch length of 22-18
gauge wire and attach a con-
nector socket to each end.
Label this wire 37.

Insert one connector socket of
wire 37 into slot 9 of the 10-
pin socket housing. Insert the
socket on the 7-inch white AC
power cord wire into slot 10 of
the 10-pin socket housing.

Connect the socket housing to
the pin housing, as shown in
Figure 5-49.

#10-32 x 1/2"
Screw

Figure 5-59.

5-67. Mount Transformer to Back

Panel.

Mount the transformer to the
back panel as shown in Figure
5-59 using four #10-32 x 1/2
inch screws, 4 nuts, 4 flat
washers and four #10 lockwashers.
(The transformer positioning
may have to be adjusted later
when the back panel is mounted
to the mainframe, to insure the
transformer is resting on the
cross member.)

Attach wires 13 and 15 from the
bridge rectifier to terminals
1 and 2 of the terminal block

Figure 5-50.)

F]ét Washer

Transformer Mounting

April, 1977
8800b



Original Back Pane]
Mounting Screws

5-68. MOUNT BACK PANEL TO MAINFRAME
{Figure 5-60)

1. Mount the back panel to the
mainframe as shown in Figure
5-60 using the original back
Panel mounting screws. (Tighten
these screws down until they are

just firm.)

2. Make sure the two 19-inch bridge
rectifier wires, the 40-inch
fuse wire (#39), and the 40Q-
inch connector plug wire (#37)
go under the fan as the back
panel is mcunted. Connect wire
14 from the bridge rectifier to
the “+" side of the capacitor(s).
Connect wire 12 from the bridge
rectifier to the ground side of
the capacitor(s). Make contin-

Uity checks (see wiring diagram,
Figure 5-50).

Figure £-60.

April, 1977
£800b

NOTE

Make sure the wires fram the fan go
underneath the fan and the trans-
former as the back panel is mounted.
Make sure the transformer rests
solidly on the cross member when the
back panel is in place.

3. Secure the solder lug on the
green AC ground wire to one of
the holes on the side of the
mainframe using a #6-32 x 1/4%
screw, a #6-32 nut, and a #6
Tockwasher.

4. Connect three secondary wires
from the transformer to Termin-
al Block #1 as follows:

Wire #20 (yellow) to siot #5, TB #1
Wire #21 (yellow) to slot #6, TB #1
#grz]#ZZ (yellow/green) to siot #7,

\

\

Green \
AC Powe \ #6-32 x 1/4"
Cord Wire \ Screw

#6-32 Nut

Back Panel Mounting



fo TB1
|
{ 1
toslot #1  toslot #3 toslot #9 toslot #10
{4) C size - ~18v +8v ground  +18v
terminal ends \ E” H
! 1
#4-40x 1’ p 5 P p p 5 S S {4) cable clamps
screw #4.40x %"
[o] (o] [o] o] o] o} o] [o] sciew !
#50 S mainframe
ground N /— cross rail
] o- < o o o] 0 o o] o
chassis vf‘ . ;
 ground ©° 2o
connection
#4-40 x "
screw
#52
—18y
#4:40 x l/z "
screws
| Y pd 3
(o] [0} o (o] (o] (e} o o] \<
O] %
+8y
o o] o o o o o o o o o o (4] o o (o) o o #4-40 x %"
[o] 0 o o] o o] (o] o] [e] 0. (o] o] 0 [e] o] o o] o screw
100-pin
edyge
connectors

Figure 5-61. Motherboard Wire Connections

April, 1977
8300b

5-68



5-69. 18-SLOT MOTHERBOARD ASSEMBLY

5-70. BUS WIRE CONNECTIONS

(Figure 5-61)

Refer to Figure 5-61. Note that
the two outside rows of holes on
either side of the motherboard

each have four wire connections.

These are the +8v, -18v, +18v and

ground lines to the power supply
from the bus. The wire connections
are made by inserting the end of
the wire from the top side ¢f the
motherboard and soldering it to
the foil (bottom) side. On the
foil side of the motherboard, hole
#1 and hole #50 are marked on each
side. Complete the wire connec-
tions according to the following
instructions:

1.

Cut six 20~-inch lengths and
twa 14-inch lengths of 22-18
gauge wire.

On both sides of the motherboard:

2.

Install one 20-inch wire into.

hole #1 (+8v).

Install one 20-inch wire into
hole #2 (+18v).

Install one 20-inch wire into
hole #52 (-13v).

Install one 14-inch wire into
hole #5C (ground). ‘

April, 1977
2800b

{yi

W



5-71. HARDWARE INSTALLATION 218V with -18v

(Figures 5-61 and 5-62) +8v with +8v
. . ground with ground

At this time, the edge connectors, +18v with +18v
cap]e clamps, mainframe Cross
rails, and card guides will all 5. Mount the card guides on both
be assembled onto the motherboard sides of ‘the connectors, as
according to Figures 5-61 and shown in Fiaure 5-62.
5-62 and the following instruc- N

tions.

1. Position the two 100-pin edae
connectors on the motherboard
as shown in Figure 5-61. Care-
fully insert the connector pins
into their respective holes.

If necessary, guide some of

the pins with the tip of a
small screwdriver. Be sure )
that the connector is tight )
against the board and that all CARD GUIDE f
100 pins have been inserted.
Solder each connector pin to
the foil pattern on the bottom
of the board. <

2. Visually inspect the connection
to make sure there are no sol-
der bridges.
MOTHER BOARD

(O8]

Remove the two cross rails
from the mainframe. Mount the
cross rails to the bottom of
the motherboard using eight
screws, positioned as shown

in Figure 5-61. Attach cable
clamps to the four back mount-
ing screws and run the bus
wires through the cable clamps
before tightening the screws
down.

4. Hatch up the four pairs of bus
wires at the back of the mother- a
board as shown in Figure 5-61. # 6-32 X 3/8" SCREWS ’
Attach a size C terminal end
to each pair. Make sure the

cg;rect wires have been paired Figure 5-62. Card Guide Mounting
oTT:
5-70 Aprit, 1977

£800b



5-72. CHASSIS GROUMD CONNECTION
(Figure 5-63)

~—To insure a good ground connection
between the motherboard and the
chassis, two ground wires will be
run from the ground land on the
foil (bottom) side of the mother-
board to the side rails of the
mainframe. Refer to Figure 5-63
and make the ground connections
according to the following instruc-
tions.

1. Cut two 6-inch pieces of wire
braid.

2. Attach a solder lug to one
end of each piece. To do this:
twist the end of the wire
braid; insert it into the
small hole on the lug; solder
the braid to the lug until
the small hole is completely
filled with solder.

Ground Land

'V,'.'.

Wire Braid————= 54

Solder Lug_/

On both sides of the motherboard:

0°0°0% o'yt

ala%"
- A—

3.

Place the braid on the ground
land along side the cross rail
so that the lug and about three
inches of braid hang over the
side, as shown in Figure 5-63.
Solder the remaining three
inches to the ground land. It
may be helpful to first "tack"
the braid in place with small
amounts of solder and then,
using the flat of the solder-
ing iron to heat the braid,
make a solid solder connection
over the entire three inches.
Make sure there are no solder
bridges to the adjacent lands
on the board. The lugs will
be attached to the side rails
of the mainframe after the
motherboard has been installed
(Paragraph 5-73).

\k\\\\\\\\\-Cross Rail

Figure 5-63. Chassis Ground Connection

April, 1577
2800b



5-73. INSTALL MOTHERBOARD OM MAIN-

FRAME

1. Attach four #6-32 x 3/8" thread-
ed spacers to the end holes in
the crossrails, using #6-32 x
1/4" screws. Place the mother-
board/crossrail assembly in the
chassis so that the spacers at
the front of the assembly align
with the 8th hole (from the
front) of the chassis side mem-
bers. Secure the assembly to
the chassis with four #6-32 x

1/4" screws.

2. Connect the four terminal

ends on the bus wires to the
terminal block (TB1) on the
Power Supply Board as follows
(see wiring diagram, Figure

5-50):
Voltage Bus Connection T81 ConnectionA}
-18v holes #52 slot #]
+8v holes #1 slot #3
ground holes #50 slct #9
+]18v holes #2 slot #10
5-72

Check for ccntinuity between
each bus connection and its
respective terminal block con-
nection.

To assure a gcod ground connec-
tion, rub the alodine coating

off the chassis side member with
steel wool. On each side of the
board, connect the chassis ground
wire from the motherboard to one
of the holes on the chassis side
member. Secure with a #6-32 x
3/8" screw and a #6-32 nut.

April, 1877
38800b



s

a—

74. ON/OFF SWITCH WIRING

(Figure 5-64)

The on/off switch (S1) on the

Display/Control Board will connect
to wires 37 and 39 from the power
supply by means of a 2-pin plug,

P5.

(See wiring diagram, Figure

5-50.) Prepare the 2-pin plug
(Bag 4) according to the following
instructions. (Refer to Paragraph
5-58 for procedural instructions
on preparing the connector sockets
and pins.)

1.

Cut two 2-inch pieces of 22-18
gauge wire.

Solder one wire (wire #40) to

the center pin of S1 on the foil

(bottom) side of the Display/

Control Board. Solder the other

wire (wire #38) to the bottom
pin of S1.

Attach a connector pin to the
free end of both wires. Insert
the connector pins into the 2-
pin pin housing, as shown in
Figure 5-64,

Insert the connector sockets of
wires 37 and 39 from the power
supply into the 2-pin socket
housing.

CAUTION

These sockets (37 and 39)
will be directly connected
to the 110v source: Make
sure the sockets are com-
pletely enclosed inside

the socket housing. It is |
advisable to use tape or
heat shrink to insulate thef
wires where they enter the i
socket housing. 1

p—y
O
~}
~1

Aoril,
2800b

" Pin Housing

Connector Socket

’////»—-Socket Housing
o /////.Pin
N Housing
/§ S
' Connector
QQ»\</’ Pin

Figure 5-64. On/O0ff Switch Wiring



4. Install the Interface Board onto

. . right-most) 100-pin connector.
1. Slide the Sub Panel (with the %hegribbon éonnecgors, P1 and
so that the front uprights are P2 frem the Interface Board to
in between the Display/Control P1 and P2 on the Display/Control
Board and the Sub Panel. Board.
2. Secure the Sub Panel in place 5. Install the CPU Board into the

from tne front of the main-

frame using the four #6-32 next 100-pin connector. Prepare

flathead screws that came with two fema]e connectors (see Para-
ppocnead s STl the. around graph 5-76) and mount them so
chassis. Pu groun that P3 cn the Interface Board

strap taut and secure to the :
chassis with a #6-32 x 1/4" égaig?nected to P3 on the CPU

screw and a #6-32 nut.

3. Perform a voltage check befcre
installing the Interface Board
and CPU Board. Connect the pin
and socket housings of P5, put
the fuse into the fuse holder,
plug in the power cord, and turn
ST on. #Monitor the voltages on
the motherboard. If the voltages
are not correct, refer to Section
IV, Troubleshooting. (Disconnect
power before proceeding with the
next steps.)

5-74 Aoril, 1977
38CCh



5-76. Instructions for Female Con-
nectors, P3 (Figure 5-65)
1. Using the wire in Bag 4 of the

(87
L]

()}
.

Interface Board, cut the wire
into eight 2-inch lengths.

Strip 1/8 inch of insulation
from the ends of each wire and
tin the exposed ends by apply-
ing a thin coat of solder.

Install a connector pin (Bag 3
cf D/C Interface Board) onto
both ends of each wire by crimp-
ing the wire into place as

shown in Figure 5-65 A and B.
Then solder the exposed portion
of the wire to the pin.

Insert the 8 pins into connector
siots 3 through 10 on both con-
nectors, as shown in Figure
5-65(C).

Insert the key (Bag 3 of D/C
Interface Board) into connector
slot #2. This key is inserted
to insure that the female con-
nectors are installed correctly.

NOTE

STot #1 will not be wired.

Aligning slot #1 with pin #1,
install the female connector

onto the male connector (P3)

on the Interface Board and on
the CPU BRoard.

April, 1977
3800b

Figure 5-65.

Female Connector Wiring for P3

JT

[OA]



5-77. CASE

The dress panel included with your
kit may curve slightly outward. If
so, it should be flattened before
mounting on the 8800b.

1. Look at the dress panel from the
top edge to see the curve. Then
hold the panel against the edge
of a table and lightly run the
palm of your hand down the
length of the panel until it
appears to be flat.

2. Snap the dress panel in place
in front of the case bottom.

3. Lower the mainframe into the
case bottom at a front-to-back
angle, so the switches on the
Display/Control Board fit
through the holes on the dress
panel.

4. Secure the mainframe in place on
both sides by replacing the two
original #6-32 x 3/8" mounting
SCrews.

5. Put the case top on the case
bottom.

April, 1977
38005



